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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which configuration change is needed for an IS-IS Level 1 adjacency between R1 and R2? 

A. Configure the lo0 family ISO address 49.0002.0010.0042.0002.00 on R2 

B. Configure the lo0 family ISO address 49.0002.0010.0042.0002.00 on R1 

C. Enable Level 2 on R1\\'s ge-0/0/1 interface 

D. Disable Level 2 on R2\\'s ge-0/0/1 interface 
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Correct Answer: A 

 

QUESTION 2

Which two requirements must be satisfied before graceful restart will work? (Choose two.) 

A. a stable network topology 

B. a neighbor configured with BFD 

C. a neighbor configured with graceful restart 

D. a neighbor with an uptime greater than an hour 

Correct Answer: AC 

 

QUESTION 3

When electing a DIS in an IS-IS network, what is used to break a priority tie? 

A. highest MAC address 

B. highest router ID 

C. lowest MAC address 

D. lowest router ID 

Correct Answer: A 

 

QUESTION 4

You configured a GRE tunnel that traverses a path using default MTU settings. You want to ensure that packets are not
dropped of fragmented. 

In this scenario, what is the maximum packet size that would traverse the GRE tunnel? 

A. 1500 

B. 1400 

C. 1524 

D. 1476 

Correct Answer: D 

 

QUESTION 5

JN0-348 PDF Dumps | JN0-348 VCE Dumps | JN0-348 Study Guide                                3 / 4

https://www.geekcert.com/jn0-348.html
https://www.geekcert.com/jn0-348.html
https://www.geekcert.com/jn0-348.html


https://www.geekcert.com/jn0-348.html
2024 Latest geekcert JN0-348 PDF and VCE dumps Download

Which two statements are true about an EX2300 device? (Choose two.) 

A. By default, trunk ports can carry untagged traffic. 

B. By default, all switch ports are trunk ports. 

C. By default, all switch ports are access ports. 

D. By default, all switch ports are associated with the default VLAN. 

Correct Answer: CD 

JN0-348 PDF Dumps JN0-348 VCE Dumps JN0-348 Study Guide

Powered by TCPDF (www.tcpdf.org)

JN0-348 PDF Dumps | JN0-348 VCE Dumps | JN0-348 Study Guide                                4 / 4

https://www.geekcert.com/jn0-348.html
https://www.geekcert.com/jn0-348.html
https://www.geekcert.com/jn0-348.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-348.html
https://www.geekcert.com/jn0-348.html
https://www.geekcert.com/jn0-348.html

